SR8000

)

)

IP

11

SR8000

8 RISC Instruction Processor :
IPO IP1
RISC
IPO IP1 IP7
| | |
1.1 SR8000
SR8000
IP
Load
8 IP DO
1PO IP1
1.2
FORTRAN

11

1P7



S=0
S$1=52+S3
DO I=1,N

S=S+A(1)*B(1)

+IP1

' S=0

| 51=52+53
1 DO 1=1,N/8 1 DO 1=N/8+1,N/8*2 : 1 DO 1=N/B*7+L,N

S=S+ACI)*B(I)

- END DO

b S=SHA(1)*B(I)

5:5+A(|)*B(I)§

END DO + END DO : END DO
$=5*51+52 : S=5*S1+452
12 IP
1.1
-O4 -pvec -parallel=3 4 -pvec -parallel=3
-procnum=8 ON -procnum=8 8 IP
-Os -procnum=8 S -Os -Os
ON -procnum=8 8 IP
-Oss -procnum=8 SS -Oss -Oss
ON -procnum=8 8 IP
11
SR8000
SR8000
SR8000 CPU
SR8000

FORTRAN




(1)

)
3.1

3.1

-Xfuncmonitor

-Xparmonitor

-Xfuncmonitor
3.1 RETURN
a b
CPU

SUBROUTINE TEST(IFLG,A,B)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(100),B(100)

C < ( a

IF (IFLG.NE.0) THEN
WRITE(6,*) Error’

END IF
c
DO 10 1=1,100
A(D=B(1)
10 CONTINUE
C [ b
RETURN ' (
END
3.1
3.2
DO END DO CONTINUE

CPU



S1=A(1)+SA
c D ( a )
DO 10 1=1,100
A(D=B(1)
10 CONTINUE
c <~ ( b ) |
S$2=A(100)-SB
3.2
Af MAIN B.f
SUB1 Cf SUB2 SUB3
3.2
3.2
A.f -Xfuncmonitor
Af B.f C.f -Xfuncmonitor
Af C.f -Xfuncmonitor
B.f -Xparmonitor SUB1
-Xfuncmonitor
CPU
-Xparmonitor
IP
3)

3.3



3.3

Execution count

User Time [sec]

CPU

[ ]

LD/ST

LoaD

STore

Instruction count

Floating-point
arithmetic count

MIPS

1

100

Instructions Per Second

Million

MFLOPS

1

100

Mega FLoating point Operations Per Second

(4)

3.4

Csv 2

APDEV_OUTPUT_TYPE

APDEV_OUTPUT_TYPE

setenv APDEV_OUTPUT_TYPE TEXT

pl_Wwwww_XXXX_Yy.txt

setenv APDEV_OUTPUT_TYPE CSV

CSV

pl_WwWwww_XXXX_YYy.CSV

setenv APDEV_OUTPUT_TYPE BOTH

pl_wwwww_XxxXx_yy.txt .csv

Csv

WWWWW

Csv

XXXX

yy

3.2

CPU




(2) sample.f
4.1 MAIN KEISAN sample.f
KEISAN DO10 20 30 3 DO
DO 20 A
1 PROGRAM MAIN
2 IMPLICIT REAL*8 (A-H,0-2)
3
4 WRITE(6,*) "Sample Program Start”
5 CALL KEISAN(SUM)
6 WRITE(6,*) "Sum of A =",SUM
7 WRITE(6,*) "Sample Program End*"
8
9 STOP
10 END
11
12 SUBROUTINE KEISAN(SUM)
13 IMPLICIT REAL*8 (A-H,0-2)
14 DIMENSION A(400000),B(400000),C(400000)
15
16 DO 10 1=1,400000
17 A(1)=1.0D0%1
18 B(1)=2.0D0+1
19 C(D)=A()+B(I)
20 10 CONTINUE
21
22 DO 20 1=1,399999
23 A(I+1)=A(D+C(1)
24 20 CONTINUE
25
26 SUM=0.0
27 DO 30 1=1,400000
28 SUM=SUM+A(1)*B(1)
29 30 CONTINUE
30
31 RETURN
32 END
4.1 sample.f
@)

-Xfuncmonitor




(2-1)
-Xfuncmonitor
-0O4
-Oss -procnum=8
4.2 sample.o

77 -Xfuncmonitor

prompt> 77 -0ss -procnum=8 -c sample.f -Xfuncmonitor

4.2
(2-2)
-Ipl -parallel
-parallel
4.3 sample
fr7 -Ipl  -parallel

prompt> 77 sample.o -o sample -Ipl -parallel

4.3
(2-3)
prun -p
prompt> prun -p ALL sample
4.4
pl_wwwww_XXXX_yy.txt WWWWW
yy MPI
4 yy=0 1 2 3 4

sample 18933

XXXX



pl_sample_18933_0.txt

(2-4) pl_sample_18933_0.txt
pl_sample_18933 0.txt 4.5
4.5 <Process Information> <Function
Information>
(Exe.R %)  :Execution ratio
(Par.E %) :Parallel efficiency
(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information > ..(a)
Node no. : 0 ...(b)
Process no. : 18933 ...(c)
Load file name : sample ()]
User Time [sec] (Max. total) : 0.011628 (Par.E 12.50 %) ...(e)
(Total) : 0.011628 ..(H
(Max) : 0.011628 ...(9)
(0-2) : 0.011628 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000 ...(h)
LD/ST : 793909 (Par.E 12.50 %)
(Max) : 793909
(0-2) : 793909 0
(3-5) : 0 0
(6-7) : 0 0
Instruction count : 2181246 (Par.E 12.50 %)
(Max) : 2181246
(0-2) : 2181246 0
(3-5) : 0 0
(6-7) : 0 0
Floating-point arithmetic count : 650081 (Par.-E 12.50 %)
(Max) : 650081
(0-2) : 650081 0
(3-5) : 0 0
(6-7) : 0 0
MIPS : 187.588688
(0-2) : 187.588688 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000
MFLOPS : 55.907423
(0-2) : 55.907423 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000
< Function Information > (1)
Function name > MAIN -.()
Source file name : sample.f (K
Line no. ' 4 ..(D
Execution count : 1 ..(m)
(0-2) : 1 0
(3-5) : 0 0
(6-7) : 0 0 ..(n)
User Time [sec] (Max) : 0.004052 (Exe.R 34.84 %) (Par.E 12.50 %) ...(0)
(Total) : 0.004052 (Exe.R 34.84 %)
(0-2) : 0.004052 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000




< Function Information >
Function name
Source file name
Line no.
Execution count

User Time [sec]

(0-2) :
(3-5) :
(6-7) :
(Max) :
(Total) :
(0-2) :
(3-5) :
(6-7) :

. KEISAN
: sample.f
16
1
1 0 0
0 0 0
0 0
0.007576 (Exe.R 65.16 %) (Par.E 12.50 %) ..(p)
0.007576 (Exe.R 65.16 %)
0.007576 0.000000 0.000000
0.000000 0.000000 0.000000
0.000000 0.000000

@)
(b)

4.5

1

pl_sample_18933 0.txt
pl_sample_ 18933 1.txt

(©)
(d)
(e)

IP
)
(9)
(h)
(0-2)

4.5
MIPS MFLOPS

IPO 1 2 (3-5)

(i) ()
()

(k) @)
) (k)

MAIN

CPU [

4.5 pl_sample_18933 0.txt

@ (p)

CPU ] -Xfuncmonitor

—]

IP CPU [ ]

IP CPU [ ]

IP CPU [ ]
IP3 4 5 (67) IP6 7

CPU

IPO

]

LD/ST Instruction count Floating-point arithmetric count

-Xparcmonitor

FORTRAN
()

samplef 4



(m) () IP
(n) () IP
02 IPO 1 2 (35 IP3 4 5 (6-7) 1IP6 7
(o) Exe.R Execution ratio CPU (e)
)
User Time [sec] (Max) = 0.011628
MAIN
User Time [sec] (Max) = 0.004052
0.004052+ 0.011628x% 100 = 34.84%
sample  MAIN KEISAN
MAIN CPU + KEISAN CPU = CPU
User Time(o) + User Time(p) = User Time(e)
MAIN KEISAN MAIN
KEISAN
3)
-Xparmonit
or
-Xfuncmonitor -Xparmonitor
2) sample
pl_sample_67929 0.txt
4.6 pl_sample_67929 0.txt
(Exe.R %)  :Execution ratio
(Par.E %) :Parallel efficiency
(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information >
Node no. 0
Process no. : 67929
Load file name : sample
User Time [sec] (Max. total) : 0.013999 (Par.E 19.80 %) ..(d)
(Total) : 0.022161 ..(0)
(Max) : 0.013989 ...(C)




(0-2) : 0.013989 0.001166 0.001166
(3-5) : 0.001170 0.001167 0.001169
(6-7) - 0.001165 0.001167 @
LD/ST : 1714102 (Par.E 26.97 %) ...(e)
(Max) : 794344 ..(H)
(0-2) : 794344 131394 131394
(3-5) : 131394 131394 131394
(6-7) : 131394 131394 ...(0)
Function Information >
Function name : MAIN
Source file name : sample.f
Line no. 4
Execution count : 1
(0-2) : 1 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.005879 (Exe.R 41.99 %) (Par.E 12.50 %) ..(h)
(Total) : 0.005879 (Exe.R 26.53 %) (D)
(0-2) : 0.005879 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000
Function Information >
Function name : KEISAN
Source file name : sample.f
Line no. : 16
Execution count : 1
(0-2) : 1 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.006949 (Exe.R 49.64 %) (Par.E 12.50 %) ..()
(Total) : 0.006949 (Exe.R 31.36 %)
(0-2) : 0.006949 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000
Parallel Information > ()
Function name : KEISAN ..(D
Source file name : sample.f
Line no. 16 ..(m)
Execution count : 8 ..(n)
(0-2) : 1 1 1
(3-5) : 1 1 1
(6-7) : 1 1
User Time [sec] (Max) : 0.000905 (Exe-R  6.47 %) (Par.E 99.93 %) ...(0)
(Total) : 0.007237 (Exe.R 32.66 %)
(0-2) : 0.000905 0.000905 0.000904
(3-5) : 0.000904 0.000905 0.000905
(6-7) : 0.000903 0.000905
LD/ST : 600512 (Exe-R 35.03 %) (Par.E 100.00 %)
(Max) : 75064
(0-2) : 75064 75064 75064
(3-5) : 75064 75064 75064
(6-7) : 75064 75064




Instruction count

(Max) ;

2001226 (Exe.R 41.99

%) (Par.E 100.00 %)

250154
(0-2) : 250153 250153 250153
(3-5) : 250154 250154 250151
(6-7) : 250154 250154
Floating-point arithmetic count : 1200032 (Exe.R 50.00 %) (Par.E 100.00 %)
(Max) : 150005
(0-2) : 150003 150003 150003
(3-5) : 150005 150005 150003
(6-7) : 150005 150005
MIPS : 2210.762025
(0-2) : 276.373065 276.507481 276.682417
(3-5) : 276.577067 276.346082 276.376963
(6-7) : 276.894230 276.518367
MFLOPS : 1325.679945
(0-2) : 165.725732 165.806333 165.911233
(3-5) : 165.849608 165.711098 165.729394
(6-7) : 166.039795 165.814409
< Parallel Information >
Function name > KEISAN
Source file name : sample.f
Line no. 27
Execution count : 8
(0-2) : 1 1 1
(3-5) : 1 1 1
(6-7) : 1 1
User Time [sec] (Max) : 0.000266 (Exe.R 1.90 %) (Par.E 98.49 %) ..(p)
(Total) : 0.002096 (Exe.R  9.46 %)
(0-2) : 0.000256 0.000262 0.000262
(3-5) : 0.000266 0.000262 0.000264
(6-7) : 0.000262 0.000263
4.6 pl_sample 67929 0.txt
4.6 @ (P
(@) CPU [ ]
Par.E Parallel efficiency
Par.E = IP CPU (b)
IP CPU (c)x 8 x 100
=0.022161+ 0.013989x 8 x 100
=19.80 [%]
100%
(b) IP CPU [ ]
(c) IP  CPU [ ]
(d) 1P CPU [ ]
(0-2) IPO 1 2 (35 IP3 4 5 (670 IP6 7 CPU [ ]




(e) IP LoaD STore
Par.E
Par.E = IP LD/ST (e)
+ IP LD/ST (f)x 8 x 100
=1714102 + (794344x 8) x 100
= 26.97 [%]
(f IP LoaD STore
(9) IP LoaD STore
(0-2) IPO 1 2 (35) IP3 4 5 (67) IP6 7
4.6 Instruction count Floating-point arithmetric count MIPS
MFLOPS (e) (9
(h) MAIN IP CPU [ 1] < Function In
formation > KEISAN
MAIN IPO CPU
Exe.R
Exe.R= MAIN IP CPU (h)
+ CPU (@ x 100
=0.005879+ 0.013999x 100
= 41.99[%]
Par.E
Par.E= MAIN IP CPU (i)
+ MAIN CPU (h)x 8 x 100
=12.5[%)]
Par.E  12.5[%]
(i) MAIN IP CPU [ ]
MAIN IPO CPU
Q) KEISAN IP CPU [ ]
-Xparmonitor
DO10 D030
DO 20

(k)
)
KEISAN



(m)

16 DO 10
(n) DO 10
P 1 8
(0) KEISAN DO 10 IP CPU [ ]
(P) KEISAN DO 30 IP CPU
4
CPU
4.1
4.1 sample
CPU Exe.R
MAIN 0.005879 [s] 41.99 [%]
KEISAN DO 20 0.006949 [s] 49.64 [%]
KEISAN DO 10 0.000905 [s] 6.47 [%]
KEISAN DO 30 0.000266 [s] 1.90 [%]
MAIN
KEISAN DO 10 DO 30
IP
4.1 KEISAN
DO 20
DO 20 A
KEISAN DO 20

SR8000

[

]



